0,54 m

- -

(&> 144 >C20/25
S1—S3 \
&> 101

/// \\
/ N\
/ \
/ \
/ \
/ \

/ \
/ \
/ \

/ \

/ \
/ \
/ \
! \
1 \
{ \
' x

| —~ L
i o— = ;
\ |
\ |
\ |
\ /
\ /
\ /
\ /
\ @1,27m /
N\ Y
\ 7
N s
N /
N v
N 7/
N s
\\ //
\\ //
25,27m
f 1
—
<
o
Varje vecka
) 7 Every week
—————————— .‘ Jede woche
1 ,OOm " Chaque semaine
I Varje sdsong
Every season
Jedes Jahr
Chaque saison

>EN 1176
>CPSC 39
NR.  [Description MA [tem Number QTY
| |@450x520 mm 15117122 | I I A G S ’i’i%gén%@m
47300
2 |@1300x17,7 mm 728427 | www.hags.com
3 [K6S MI0x20 mm 302506 6 Roty
4 |M8x75 mm 303000 4 151 171 OM
5 980x430x171 mm 715400 2 1 (2)
6 |MK6S M8x20 mm 302877 6 NN[SE>[1) [2009-09-07 |1




\’

>C20/25

7

NR. [Description MA ltem Number | QTY

| |@450x520 mm 15117122 | I I A G S ’i’i%gész,%vfw

47300

2 |@1300x17,7 mm 728427 | vww.hags.com
3 |MK6S M8x20 mm 302877 16 Roty

4 |K6S MI0x20 mm 302506 6 151 171 OM

5 [M8x75 mm 303000 4 2(2)

6 |980x430x171 mm 715400 2 NN[SE>[1) [2009-09-07 |1




